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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(ii) Section A contains question number 1 to 5, Very Short Answer type questions of 1
mark each.

(iii)  Section B contains question number 6 to 10, Short Answer type—I questions of 2
marks each.

(iv)  Section C contains question number 11 to 22, Short Answer type—II questions of 3
marks each.

(v) Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains question number 24 to 26, Long Answer type questions of 5
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of 5 marks. In these questions, an examinee is to attempt any one of the
two given alternatives.

gue - %
SECTION - A
1. TSI % 3TAR 97 (saltation) T AT € ? 1

According to de-Vries what is saltation ?

2. AU S R H 3Tcafyer 99T o ShX0T HS{erdl H Sal & | hie &1 HRUT Iy | 1

Excessive nutrients in a fresh water body cause fish mortality. Give two reasons.

3. TY-3ARA H 39T ¥ HH 39 37 a1l Sqel & oTT gad 399 UsHA Aty 6 gend e | 1
Suggest the breeding method most suitable for animals that are below average in milk
productivity.

4. UH S T U Uollel H 3T TRy | 1
State a difference between a gene and an allele.

5. U YAl B DNA & Gl ol JoIeh i i Tevdehdl ¢, 39 fohdr fafyr 1 geme i | 1

Suggest a technique to a researcher who needs to separate fragments of DNA.
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SECTION - B

e ffor Sfier 7 JreehsT hITTehTat T SR Hew 81 § 2

Explain the significance of meiocytes in a diploid organism.

ARASY | 3TAT ! &5 F HY 377eh Tl sl Sefatergar sl ==l hisT | T8 hE T G99 & 2 2

Mention the kind of biodiversity of more than a thousand varieties of mangoes in India

represent. How is it possible ?

3 FeISH W Gl ST Sk FHRUT AMfed-Ael % ITER % IR WA afgare & SAoas

IS | (BOD) ¥ STl § |

List the events that reduce the Biological Oxygen Demand (BOD) of a primary effluent

during sewage treatment.

DNA Ufa&Haas % IR DNA ST AT USTEH i JiHe S ==t Hie |

Discuss the role the enzyme DNA ligase plays during DNA replication.

SFHIEAT AT T o hReh el &1 A1 Id13T | 39 I o o ofefo7 off Sarey |
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Name the causative organism of the disease amoebiasis. List three symptoms of the

disease.
OR
Identify ‘A’, ‘B’, ‘C’ and ‘D’ in the given table.
Crop Variety Resistance to disease
Himgiri Leaf rust
Cauliflower Pusa Shubhra

Brassica Pusa Swarnim

Cowpea EI Bacterial blight
T[ue -
SECTION - C
11. oy =t gig & SRS et & SR TTIH H Bl FATe FT 3 ST & 2 HROT Ay | 3

Why is breast-feeding recommended during the initial period of an infant’s growth ?
Give reasons.

12. Ael B UH ARG STTer faiueh (trait) T Ueh SSRR0T ST | Ueh Shid i Ferar d
THh! 9T & Y ol ST HIT | 3

Give an example of an autosomal recessive trait in humans. Explain its pattern of
inheritance with the help of a cross.

13. 3T WM & g HINT 87 T I9eR ®l Seq & @S 6 (GG @ w3 °
TR | 3

Describe the experiment that helped Louis Pasteur to dismiss the theory of spontaneous
generation of life.

14,  URU-SSHA deheh & ST YRA § =T ST 31 eTaal el ¢ | ey | 3
Plant breeding technique has helped sugar industry in North India. Explain how.

15. 3ia are S & 95 9ga IR Hiatardt W e st qereh ol Gee ST T 3T
U HINT | 3

Suggest and describe a technique to obtain multiple copies of a gene of interest in vitro.
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16. GMO 8 F&d € 2 T [HaH & el GMO & Qe el Irer ol b gt a1y | 3
What is a GMO ? List any five possible advantages of a GMO to a farmer.

17. Vel U H YHUT HA &k IRE, 3Th el Hl Tk DT & Ufezegs fama & wi |
AR, e 9T % a5 98 31 & T | 3
(a) TOHIG T UAT T % feTT Th T-I0T i ==l BT |
(b) € G foHg HROT g ?
(c) TS TETH I DT b FHT & T 2
During a school trip to ‘Rohtang Pass’, one of your classmate suddenly developed
‘altitude sickness’. But, she recovered after sometime.
(a) Mention one symptom to diagnose the sickness.

(b)  What caused the sickness ?

(c) How could she recover by herself after sometime ?

18. RNAIi T ¥ fhT TR HALSTET SohiiHRET A9 Ush GIHH FRT daeh & Ul § STeh
TEHHUT B W T & T ? 3

How has RNAI technique helped to prevent the infestation of roots in tobacco plants by

a nematode Meloidegyne incognitia ?

19. “UH WL H, U TR 1 Wi fomdr el g1 Fél afeeh U {shareqesh T §RT & & 17

HULARY | 3
Froran
(a) 3 Tl <1 T o A1 TRy SRl [eR-aed Sreaafust o o Sifard glar € | v e
! Al ST Tl & 2

(b) TERIT @& o HIT T AT Fa=y |
“In a food-chain, a trophic level represents a functional level, not a species.” Explain.
OR

(a) Name any two places where it is essential to install electrostatic precipitators.
Why it is required to do so ?

(b) Mention one limitation of the electrostatic precipitator.
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20. TWAFE UAANTAT RN B ¥ 94, faetedl & R a4 g ok AA B T S % o
THE Y T ST 8 | 3
(a) TH TN i S hi i o1 eI el ¢ 2
(b) TBA T “TT B & [oeh! Sira AIHRITOT HAT T8 & 2
(c) I Ul & SiHes AT Bt gt ST I 3 3w T o ¥

Prior to a sports event blood & urine samples of sportspersons are collected for drug

tests.
(a) Why is there a need to conduct such tests ?
(b) Name the drugs the authorities usually look for.

(c)  Write the generic names of two plants from which these drugs are obtained.

21. S VAN T GUH SIS TG I8 e fohar mar foh DNA wfashiaa et giar € | 3

Describe the experiment that helped demonstrate the semi-conservative mode of DNA

replication.

22. e DE GeASEl i g S T | AEEl o 93 § SRt SUAIHTAT STy ; 3

(a) ARSI

ae o

(b) TAHHENE S
(c) =T TRe™

(d) ZEHEH YR

(LAWY a

(e) UOMICTIH dI2ZH
(H DRy IREAE

Given below is a list of six micro-organisms. State their usefulness to humans.

(@)  Nucleopolyhedrovirus

(b)  Saccharomyces cerevisiae
(c) Monascus purpureus

(d) Trichoderma polysporum
(e) Penicillium notatum

(f)  Propionibacterium sharmanii
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SECTION -D

3TITeheT ST Ta 98] T2 (RCH) ool ShIdshH Tel ST 38 & | 59 BRIkl o WHE 329l
H ¥ U 29T Te o & o @ Bl S et Teei3T o AT &5 o SR § STNTEeh ST ST,
Hifeh g ST Faied et qHTST % 10T % feld Hewaqor 3T 3ifamd ot & |

(a) T AT D! IYcATed & foTT Ueh aRiewt e ot & T Tpetl | oifires foretm <t e 1 39 e
% IR 310 foaR &l gfte & forw =R fog U |
(b) TH HE T “Tohasr” Tafaw Y s Fardt s Gt 1 o fHord & |

Reproductive and Child Healthcare (RCH) programmes are currently in operation. One
of the major tasks of these programmes is to create awareness amongst people about the
wide range of reproduction related aspects. As this is important and essential for
building a reproductively healthy society.

(a) “Providing sex education in schools is one of the ways to meet this goal.” Give
four points in support of your opinion regarding this statement.

(b) List any two ‘indicators’ that indicate a reproductively healthy society.

eLEE
SECTION - E

(a) STIASISTET H TATOT o &% & aTell 3 HSAT3T i AT hitelT 5k a5 ST o ST
g1
(b)  RTT HUT o HId o SMER I GRAT0T i fafig= Tt bt gt ey |
3T
(a) o%h S Y e 31T Ao i TeATeT l & H SRS ST |
(b) T FAHME U & FT H U7 i Yehr i 7= HITT |

(a) Explain the post-pollination events leading to seed production in angiosperms.

(b) List the different types of pollination depending upon the source of pollen grain.
OR

(a) Briefly explain the events of fertilization and implantation in an adult human
female.

(b) Comment on the role of placenta as an endocrine gland.



25. (a) fT=TaREd %1 FE0T 68 WK BidT € 31X o Ueh HivTeh & e § DNA UohionT H fhg
TR ffed gl & 2

() T AR
(i) —gferaEm
(i) spfeT
(b)  FehATE 3R kAT H SiaT Famey |
JreraT

e SR | U IR o &0 H oot &l YHeR! i == iy |

(a) How are the following formed and involved in DNA packaging in a nucleus of a
cell 7

(1)  Histone octomer
(i) Nucleosome
(iii) Chromatin
(b) Differentiate between Euchromatin and Heterochromatin.
OR

Explain the role of lactose as an inducer in a lac operon.

26. (a) H Sdfaroar % HII0T o I GRSl & ? &H UAT T ThR T T € 2
(b) SAfafayar % &ie-Tel 3R Gfe SUSHT o Hexd i AR HioTT |

AT

(a) AHI TG & feg 311 fORfel & i WehRT T STRE T FE9or ity |
(b) THdr fGU 7T g7 ° A SHEEN % fog ey fRfge wiEr AsHr s § R TR

lﬂfw@l S | Helddl nddl % ?

(a) Why should we conserve biodiversity ? How can we do it ?
(b) Explain the importance of biodiversity hot-spots and sacred groves.
OR
(a) Represent diagrammatically three kinds of age-pyramids for human populations.

(b) How does an age pyramid for human population at given point of time helps the
policy-makers in planning for future.
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